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QUESTION NO: 1

Which of the following statements are incorrect about the UPS 5000-A-400/500K? (Multiple Choice)
A. The input power factor is 0.99.

B. The output power factor is 1.

C. The number of batteries cannot be adjusted.

D. The efficiency is 94%.

ANSWER: BCD

QUESTION NO: 2

Which of the following statements are true about the overload capabilities of the various capacity models of the UPS2000-A
series (6 kVA to 10 kVA) in normal mode? () (Multiple Choice)

A. 105%-125%, switch to bypass after 5-miunute continuous loading
B. 125%-150%, switch to bypass after 1-miunute continuous loading
C. > 150%, switch to bypass after 10s continuous loading

D. > 150%, switch to bypass after 0.1s continuous loading

ANSWER: ABD

QUESTION NO: 3

The standard UPS5000-A is equipped with an LCD which supports multiple languages, displays system operating system in
real time, and stores a maximum of () alarm records.

A. 2000
B. 2500
C. 3000

ANSWER: B

QUESTION NO: 4
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The battery voltage of the UPS2000-G is 240 V for the 6-10 kVA capacity models, and is 480 V for the 15 kVA and 20 kVA
capacity models.

A. TRUE
B. FALSE

ANSWER: A

QUESTION NO: 5

The UPS2000-G series (6 kVA to 20 kVA) supports up to () UPSs in parallel, providing excellent scalability.
A.0

B.2

C.3

D. 4

ANSWER: D

QUESTION NO: 6

Batteries of different discharge currents have different requirements for the cutoff voltage. Typically, the () the discharge
current is, the () the cutoff voltage is.

A. Higher, higher
B. Lower, higher

C. Lower, lower

ANSWER: B

QUESTION NO: 7

Which of the following are the functions of the SCT configurator? () (Multiple Choice)
A. Display product cost data

B. Provide quick overview of Huawei products

C. Quick solution configuration

D. Simple quotation creation
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ANSWER:BCD

QUESTION NO: 8

Electric cables are determined on actual project requirements during UPS configuration.
A. TRUE

B. FALSE

ANSWER: A

QUESTION NO: 9

Which of the following are the optional components for the UPS2000-G series (6 kVA to 20 kVA)? () (Multiple Choice)
A. Temperature and humidity sensor

B. Battery temperature sensor

C. Transformer

D. PDU

ANSWER: ABCD

QUESTION NO: 10

The optional components and features in the typical configuration solution of the FusionModule800 include ().

A. Temperature and humidity sensor, door status sensor, water sensor, smoke sensor, and mobile app

B. Smoke sensor, door status sensor, water sensor, alarm notification over short messages, and Huawei tablet

C. Door magnetic switch, Water leakage, Video system. Power backup system, iBattery, Mobile APP (remote), Emergency

fans

ANSWER: C

QUESTION NO: 11

Which of the following UPS types does the PS5000-E (50 kVA power module) belongs to? (Multiple Choice)
A. Industrial frequency UPS

B. High frequency UPS
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C. Rack and tower-mounted UPS

D. Modular UPS

ANSWER: B D

QUESTION NO: 12

The UPS5000-E can realize convenient and simple 2N power supply system only by configuring a ().
A. BSC cable

B. Synchronized control

C. BSC control board

D. Parallel card

ANSWER: A

QUESTION NO: 13

Which of the following products can be quoted in a configurator? (Multiple Choice)
A. UPS2000-G

B. UPS5000-E

C. FusionModule2000

D. UPS8000

ANSWER: ABC

QUESTION NO: 14

The UPS5000-A 30-120 kVA can be wall-mounted.
A. TRUE
B. FALSE

ANSWER: B

QUESTION NO: 15
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What's difference of a traditional industrial frequency UPS compared with high frequency UPS? (Multiple Choice)
A. The rectifier system is different.

B. A built-in boosting transformer is required for output.

C. The bypass component type is different.

D. All of the above are correct.

ANSWER: AB
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